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Sem. I/II
Basic-Chem

Full Marks : 70
Pass Marks : 28

PTO

Answer all 20 Questions from Group-A, each question carries 1 mark.
xzqi&A ls lHkh iz’uksa ds mÙkj nsa] izR;sd iz’u dk eku 1 vad gSA

Answer all five questions from Group-B, each question carries 4 marks.
xzqi&B ls ik¡p iz’ukas ds mÙkj nsa] izR;sd iz’u dk eku 4 vad gSA

Answer all five questions from Group-C, each question carries 6 marks.
xzqi&C ls ik¡p iz’ukas ds mÙkj nsa] izR;sd iz’u dk eku 6 vad gSA

All parts of a question must be answered at one place
in sequence, otherwise they may not be evaluated.

,d iz’u ds lHkh va’kks dk mÙkj ,d gh txg ¼yxkrkj Øe esa½ gksuk
pkfg,] vU;Fkk os ugha tk¡ps tk ldrs gSaA

The figures in right hand margin indicate full marks
nk,¡ ikÜoZ ds vad iw.kkZ ad ds lwpd gSaA



GROUP-A
1. Choose the most suitable answer from the following options.

¼lokZf/kd mi;qZDr fodYi dks pqudj fy[ksa½ %&

(i) The quantity of charge required to obtain one mole of
aluminium from Al2O3 is
(a) 1 F
(b) 6 F
(c) 3 F
(d) 2 F

(i) Al2O3  ls ,d eksy ,yqfefu;e izkIr djus ds fy, vko';d

vkos'k dh ek=k gSA

(v) 1 F
(c) 6 F
(l) 3 F
(n) 2 F

(ii) Number of  ( pi ) and ( sigma ) bonds in benzene is:
(a) 3  + 12
(b) 12  + 12
(c) 6  + 6
(d) None of these

(ii) csUthu esa ikbZ ( ) ,oa flXek ( )ca/kdksa dh la[;k gksrh gS%
(v) 3  + 12
(c) 12  + 12
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(l) 6  + 6
(n) buesa ls dksbZ ughaA

(iii) The most suitable metal for permanent magnet is :
(a)   iron
(b) copper
(c) steel
(d) none of these

(iii) LFkk;h pqEcd cukus ds fy, lokZf/kd mi;qDr /kkrq gS %

(v) yksgk
(c) rkack

(l) bLikr

(n) buesa ls dksbZ ughaA

(iv) Which one of the following gases does not form a part of
the atmosphere ?
(a) Nitrogen
(b) Oxygen
(c) Ozone
(d) Chlorine

(iv) fuEu esa ls dkSu lh xSl okrkoj.k dk Hkkx ugha gSa \

(v) ukbVªks
(c) vkDlhtu

(l) vkstksu

(n) Dyksjhu



(v) What is the shape of methane molecule ?
(a) linear
(b) trigonal pyramid
(c) square planar
(d) tetrahedral

(v) feFksu v.kq dk vkdkj D;k gS \

(v) js[kh;
(c) f=Hkqtkdkj fijkehM

(l) prq"kh; lery

(n) prq"Qydh;

(vi) If the last entering electron in an element has the
quantam numbers 4,   2,   2n l m     and 12s   ,
the atomic number of the element will be :
(a) 19
(b) 21
(c) 29
(d) None of these

(vi) fdlh rRo esa vkf[kjh lekafgr bysDVªku dk DokaVe la[;k

fuEu gS %

(v) 19
(c) 21
(l) 29
(n) buesa ls dksbZ ugha
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(vii) In the extraction of Copper fram sulphide are, the metal
is formed by the reduction of CH2O with.
(a) FeS
(b) CO
(c) Cu2S
(d) None of these

(vii) lYQkbM v;Ld ls dkWij ds fu"d"kZ.k esa CH2O dk vip;u

fdl vipk;d }kjk djds /kkrq izkIr dh tkrh gS \

(v) FeS
(c) CO
(l) Cu2S
(n) buesa ls dksbZ ughaA

(viii) The number of radial nodes for 2p orbital is :
(a) 0
(b) 1
(c) 2
(d) None of these

(viii) 2p d{kd esa fdrus f=T; uksM+ gksxsaA
(v) 0
(c) 1
(l) 2
(n) buesa ls dksbZ ugha
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(ix) Faradays law of electrolysis are related to :
(a) Speed of cation
(b) Atomic number of the cation
(c) Equivalent weight of electrolyte
(d) None of these

(ix) QSjkMs ds fo|qr&foPNsnu dk fu;e lacaf/kr gS %

(v) /kuk;u dh pky ls
(c) /kuk;u ds ijek.kq la[;k ls

(l) oS|qr foPNsu ds lerqY; Hkkj ls
(n) buesa ls dksbZ ughaA

(x) Ozone depletion in stratosphere will cause :
(a) Skin Cancer
(b) Global warming
(c) Forest fire
(d) None of these

(x) LVªsVksLQh;j esa vkstksu dh deh ds dkj.k D;k gksrk gS \

(v) fLdu dSalj
(c) Xyksc okfeZx

(l) taxy esa vkx

(n) buesa ls dksbZ ughaA

(xi) Which of the following is primary cell ?
(a) Nicken - cadmium cell
(b) Lithium ion cell

(c) Daniel cell
(d) None of these

(xi) fuEufyf[kr esa dkSu izkbejh lsy gS \

(v) fudsy & dSMfe;e lsy
(c) fyfFk;e vk;u lsy

(l) MSfu;y lsy

(n) buesa ls dksbZ ughaA

(xii) Bhopal gas tragedy took place because methyl isocyan-
ate reacted with :
(a) CO2
(b) NH3
(c) BF3
(d) H2O

(xii) Hkksiky xSl gknlk tks gqvk Fkk ogk¡ feFkkby vkblkslkbusV

us fdlds lkFk izfrfØ;k dh Fkh \

(v) CO2
(c) NH3
(l) BF3
(n) H2O

(xiii) In an aqueous solution hydrogen will not reduce.
(a) Fe+3

(b) Zn+2

(c) Cu+2

(d) None of these
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(xiii) fdl tyh; ?kksy esa gkbMªkstu vod`r ugh djsxk %

(v) Fe+3

(c) Zn+2

(l) Cu+2

(n) buesa ls dksbZ ughaA

(xiv) Which of the following is secondary air pollutant ?
(a) Ozone
(b) Carbon dioxide
(c) Sulphur dioxide
(d) None of these

(xiv) fuEukafdr esa dks lsd.Mjh ok;q iznw"kd gS\

(v) vkstksu

(c) dkcZu Mk;DlkbM

(l) lYQj Mk;DlkbM

(n) buesa ls dksbZ ughaA

(xv) Which of the following compounds  is used as a re-
frigerant ?
(a) CH4(b) CCl4(c) Acetone
(d) CCl2F2

(xv) fuEu ;kSfxdksa esa ls dkSu lk iz'khru gsrq mi;ksx fd;k

tkrk gS \

(v) CH4
(c) CCl4

(l) ,lhVksu

(n) CCl2F2

(xvi) Teflon is polymer of :
(a) Acetates
(b) Propenes
(c) Alkene cantaining fluorine
(d) None of these

(xvi) Vs¶yku ,d cgqyd gS %

(v) ,lhVsV dk
(c) izksihu dk

(l) ¶yksjhu;qä vYdhu dk

(n) buesa ls dksbZ ugha

(xvii) In which of the following molecules are the sonic bond
formed ?
(a) KCl
(b) H2O(c) NH3(d) None of these

(xvii) fuEufyf[kr esaa ls fdu v.kqvksa ds chp vk;uhd ca/k

curk gS \

(v) KCl
(c) H2O
(l) NH3
(n) buesa ls dksbZ ughaA
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(xviii) Chemical used in photography is :
(a) Ag Br
(b) Ag Cl
(c) KCl
(d) None of these

(xviii) QksVksxzkQh esa fdl jlk;u dk bLrseky gksrk gS %
(v) Ag Br
(c) Ag Cl
(l) KCl
(n) buesa lsa dksbZ ugha

(xix) Who safeguards us from the ultraviolet rays coming
from sun ?
(a) O2
(b) O3
(c) CO2
(d) N2

(xix) lw;Z ls vkrh gqbZ ijkcSxauh fdj.kk s ls ges dkSu lqj{kk

nsrk gS \

(v) O2
(c) O3
(l) CO2
(n) N2

(xx) How many elements are accommodated in the sixth
period ?
(a) 8
(b) 18
(c) 26
(d) 32

(xx) NBs vkorZ esa fdrus rRoksa dks j[kk x;k gS \

(v) 8
(c) 18
(l) 26
(n) 32

GROUP-B
Answer all five questions :      4x5=20
lHkh ik¡p iz'uksa ds mÙkj nsaA

2. What is acid rain? How does it occur ?
vEyh; o"kkZ D;k gS \ ;g fdl izdkj gksrh gS \ 4

OR (vFkok)
Explain way electron affinity of fluorine is smaller than chlorine.
le>k,W & D;ksa Qyksjhu dh bysDVªku izhfr Dyksjhu ls de gksrh

gSa \ 4
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3. Explain Biochemical oxygen demand.
ck;ksdsfedy vkWDlhtu fMekaM dh O;k[;k djsaA 4

OR (vFkok)
Write down the name of four region of atmosphere.
ok;qe.My ds pkj {ks= ds uke fy[ksaA 4

4. What is difference between natural rubber and synthetic rubber.
uspqjy jcj ,oa d`f=e jcj esa D;k vUrj gSa \ 4

OR (vFkok)
What is the function of salt bridge in an electrochemical cell ?
fo|qr jlk;fud lsy esa yo.k lsrq dk D;k dk;Z gS \ 4

5. Why Mn+2 is more stable than Fe+2 towards oxidation to +3
state.
+3 vkDlhdj.k voLFkk esa vkWDlhd`r gksus ds lanHk Z es a Mn+2

ds ;kSfxd  Fe+2 ds ;kSfxdks dh rqyuk es a vf/kd LFkk;h D;ks a

g S a \ 4

OR (vFkok)
Explain Bohr's model of an atom ?
cksj ds ijek.kq izfr:i dk o.kZu djsaA 4

6. Discuss the main purpose of vulcanisation of rubber.
jcj ds oYduhdj.k ds eq[; mÌs'; dh foospuk djsaA 4

OR (vFkok)
Explain Faraday's law of electrolysis.
QSjkMs ds oS|qr vi?kVu ds fu;e dh O;k[;k djsaA 4

GROUP-C
Answer all Five questions :      5x6=30
lHkh ik¡p iz'uks ds mÙkj nsaA +:
7. 0.2964 gm Copper was deposited on passage of a Current of

0.5 ampere for 30 minute through a solution of  CuSo4. Calculate
atomic mass of Cu ?
0.2964 xzke rkWck] 0.5 ,sfEi;j dh fo|qr /kkjk 30 feuV rd
CuSo4 ?kksy esa izokfgr djus ij izkIr gksrh gSA Cu dk ijek.kq
Hkkj Kkr djsaA 6
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                                 OR (vFkok)
In what respects do primary cells differ from the secondary
cells? Write the cell reaction of a lead storage battery When it
is discharged How does the density of the electrolyte change
when the battery is discharged?
izkbejh lsy fdl ek;us esa lsdsUMªh lsy ls vyx gS\ fMLpktZ

gksrs le; lhlk lapk;d lsy esa gksus okyh vfHkfØ;k fyf[k,A

tc cSVjh fMLpktZ gksrh gS rks fo|qr vi?kV; dk ?kuRo fdl

izdkj izHkkfor gksrk gS \ 6

8. Write down the names and formulae of important ores of
Aluminium. Describe a method for obtaining Aluminium metal
from its important are. 6
,Y;wfefu;e ds izeq[k v;Ldks ds uke ,o lw= fy[ksaA eq[;

v;Ld ls lY;wfefu;e /kkrq izkIr djus dh fof/k dk o.kZu djsaA

OR (vFkok)
(a) What is difference between metallic conduction and

Electrolytic conduction.
(b) What is Glass wool Mention its important properties.
(a) Metallic conduction rFkk Electrolytic conduction esa D;k
   vUrj gS \

(b) Glass wool D;k gS\ blds eq[; xq.kks a dk mYys[k djsaA 6

9. (a) What is ozonosphere? What are the reasons of being a
     hole in it.
(b) Explain Kohlraush's law Explain equivalent conductence
(a) vkstksu eaMy D;k gSa\ blesa fNnz gksus ds D;k dkj.k gS\

(b) dksyjkÅ'k ykW dh O;k[;k djsaA rqY;kadh pkydrk dh O;k[;k

   djsaA 6
OR (vFkok)

Explain the term polymer and monomer. How can you
different iate between addit ion and condensation
polymerisation?
cgqyd vkSj ,dyd inksa dh O;k[;k dhft,A ladyu vkSj

la?kuu cgqydu ds e/; vki fdl izdkj foHksn djsaxsA 6

10. Exp la in  ion isa t ion  po ten t i a l ,  e lec t ron  a f f in i t y  and
electronegativity. How are these related ?
vk;uhdj.k foHko] bysDVªkWu ,fQfuVh ,oa fo|qr _.kkRedrk dh

O;k[;k djsaA ;g fdl rjg vkil esa lacaf/kr gSa \ 6
                                              OR (vFkok)
Write down the names and formula of different important ore of
Zinc. How Zinc is extracted from its ore .
ftad ds eq[; v;Ldksa ds uke rFkk lw= fy[ksaA ftad dk mlds

izeq[k v;Ld ls fdl izdkj fu"d"kZ.k fd;k tkrk gS \ 6
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11. Write short note on any two of the following :-

(a) Global warming
(b) Electro chemical series
(c) E-Waste.
fuEufyf[kr esa ls fdUgh nks ij laf{kIr fVIi.kh fy[ksa%& 6
(a) Hkwe.Myh; rki o`f)
(b) fo|qr jlk;fud lhjht
(c) bZ- & dpjk

OR (vFkok)
Write short notes on any two of the following :-
(a) Ohms law
(b) Alloy
(c) Backelite
fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIi.kh fy[ksa%& 6
(a) vkse dk fu;e

(b) ,ykW;
(c) cSdsykbV

***


